
22
 E

Q
U

A
L 

R
IS

E
R

S
 A

T 
19

4.
55

 E
A

C
H

 =
 4

28
0

1

2

3

4

5

6

7

89

10

10

11

12

13

14

15

16

17 18

19

20

21

22

180x75 PFC

50x50x6 RSA

180x75 PFC

180x75 PFC

18
0x

75
 P

FC

18
0x

75
 P

FC

15
00

595
COLUMN TO CENTRE

OF DOORWAY

11
20

11
20

22
 E

Q
U

A
L 

R
IS

E
R

S
 A

T 
19

4.
55

 E
A

C
H

 =
 4

28
0

12
50

42
40

25

15
 G

R
O

U
T

300

400

C
O

LU
M

N
 : 

27
3 

D
IA

. C
H

S
 x

 1
0 

W
A

LL

1500
COLUMN TO FACE OF CLADDING

11
20

95
0 

TY
P

IC
A

L

1265

147

1118
992 CLEAR O

PENING

78

48

1265 1265

178 TYPICAL 25

20°
10°

10°

20°
10°

10°

180x75 PFC BRACE. CONNECTED TO
COLUMN AND LANDING PFC USING
12mm THICK CLEATS AND 2 No. M16
BOLTS TO EACH CLEAT.

20°

27
3 

D
IA

.

1118 OVER TREAD NOSING10 GAP

325

50 75 75 75 50

1018 OVER 100x65x7 RSA

47
9

94

6

20

65

10
0

15

80

40

20 6

10
0

350

50

50

1265 RADIUS

400

50 300 50

40
0

30
0

50
50

20
0

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

330

250

170

270

270

226

226

EXISTING CLAD FACADE

EXISTING CLAD FACADE

TOP LANDING SUPPORT MEMBERS TO BE LEFT LONG.
INSERT THRO' EXISTING CLADDING ONCE IT HAS BEEN
LOCALLY REMOVED THEN CUT AND SITE WELD TO
EXISTING STEELWORK.

19
4.

55
 R

IS
E

19
4.

55
 R

IS
E

BALUSTRADE POSTS TO BE TURNED DOWN
AT ENDS AND THREADED WITH A M12 DIE.
FIT M12 NUT & WASHER TO THREADED
SECTION TO CLAMP TREAD BETWEEN NUT
AND POST SHOULDER.

14 DIA. HOLES
THRO' TREADS.

6

25 DIA. POSTS
10

6mm THICK CAP-PLATE TO TOP
OF POST.

200

BASEPLATE : 25mm THICK x 400
SQUARE. 4 No. HOLES 24 DIA. FOR
M20 RESIN ANCHORS.

ELEVATION

'A'

VIEW ON ARROW 'A'

PLAN VIEW AT 1st. FLOOR LEVEL

PLAN VIEW AT GROUND LEVEL

170

250

330

270

226

226

270

NOTE :

INNER GOING = 170
CENTRE GOING = 250
OUTER GOING = 330

2r + g = 640

67

46 42 DIA.

50

12 DIA. STALKS
WELDED TO
UNDERSIDE IF INNER
HANDRAIL AND
WELDED TO COLUMN.

BALUSTRADE :
42 O'DIA. x 3.2 WALL CHS. POSTS FROM
25 DIA. SOLID BAR. SITE WELD TOP RAIL
TO POSTS.

'B'

'B'

TREAD DETAIL

VIEW ON FRONT OF TREAD
SECTION THRO 'B'-'B'

INNER HANDRAIL DETAIL

BALUSTRADE FIXING DETAIL BASEPLATE DETAIL

MINIMUM BEND
RADIUS.

TOP LANDING FROM 6mm THICK
DURBAR PLATE. SECURE TO STEEL
FRAMEWORK USING M12
COUNTERSUNK SOCKET HEAD
SETSCREWS.

TREADS FROM 6mm THICK
DURBAR PLATE WITH A 100x65
RSA WELDED TO UNDERSIDE.

NOTES :

CLIENT TO ENSURE AND CONFIRM THAT THE PROPOSED STAIRCASE IS IN
ACCORDANCE WITH THE CURRENT BUILDING REGULATIONS AND IS TO THE
SATISFACTION OF THE LOCAL BUILDING INSPECTOR AND THE FIRE OFFICER PRIOR
TO MANUFACTURE.

CLIENT TO ENSURE AND CONFIRM THAT THE EXISTING BUILDING AND FLOOR SLAB
ARE CAPABLE OF WITHSTANDING THE LOADS FROM THE SCAFFOLD IN ITS FULLY
LOADED CONDITION.

THIS STAIRCASE HAS BEEN DESIGNED TO WITHSTAND AN IMPOSED LOAD OF 4
KN/M.SQ.

THERE ARE TO BE NO BURRS OR SHARP EDGES ON THE FINISHED STAIRCASE.

FINISH : THE STAIRCASE IS TO BE SUPPLIED WITH A GALVANISED FINISH.

ALL WELDS TO BE 6mm CONTINUOUS FILLET UNLESS NOTED OTHERWISE.

180x75 PFC BRACE. CONNECTED TO
COLUMN AND LANDING PFC USING
12mm THICK CLEATS AND 2 No. M16
BOLTS TO EACH CLEAT.

THIS POST TO BE SITE WELDED TO
DURBAR FLOORING.

POSTS TO TOP LANDING TO BE AS
BALUSTRADE FIXING DETAIL. POSTS WILL
ACT AS A FIXING FOR THE DURBAR
FLOORING.

INNER HANDRAIL TO BE WELDED TO
COLUMN PRIOR TO GALVANISING. INNER
HANDRAIL TO BE POSITIONED DURING
TRIAL ERECTION.

SCALE 1 : 15

SCALE 1 : 15

SCALE 1 : 15

SCALE 1 : 15

SCALE 1 : 7.5

SCALE 1 : 10

SCALE 1 : 10

SCALE 1 : 10

SCALE 1 : 7.5 SCALE 1 : 7.5

100

100

1190

1252 CLEAR WIDTH

2/1

3/1

4/1

5/1
6/1

7/1

8/1

9/1

10/1

11/1

12/1

13/1

14/1

15/1

16/1

16/2

M12 STUD SCREWED INTO
BOTTOM OF POST. 26.9
O'DIA.x3.2 WALL CHS SPACER
OVER STUD. BOLT AT BOTTOM
WITH M12 NUT.

17/1

17/2

No. DESCRIPTION CHANGED APPROVED DATE

R E V I S I O N S

TITLE :

THIS DRAWING IS THE EXCLUSIVE PROPERTY OF REDGATE ENGINEERING LIMITED AND MUST NOT BE COPIED OR LENT WITHOUT PRIOR WRITTEN CONSENT AND SHALL BE RETURNED UPON REQUEST

GENERAL ARRANGEMENT OF PROPOSED SPIRAL
STAIRCASE

SURFACE FINISH IN
MICRONS TO BS
1134-1990

SYMBOLS AND
DIMENSIONS ETC. TO
BS 308-1993

UNDIMENSIONED
RADII - 1mm

WELDING TO
BS 5135-1984

WELD SYMBOLS TO
BS 449-1980

MARK WITH PART
NUMBER AND ISSUE

ALL DIMENSIONS IN MILLIMETRES

FABRICATION TOLERANCE :

UPTO 300mm ±1.0mm
300mm TO 1000mm ±2.0mm
ABOVE 1000mm ±3.0mm

UNTOLERANCED MACHINE
DIMENSIONS ±0.25mm

PROJECTION

DRAWN M. BROOKES DATE ....

TRACED DATE

CHECKED DATE

APPROVED DATE
DRAWING No. :

REL-527-001

SCALE : 1 : 15

CLIENT :

PROJECT :

SHEET 1
OF 1

REV. :

Redgate
Engineering

B.B.I.C., Snydale Road, Cudworth, Barnsley, South Yorkshire, S72 8RP
Tel. : 01226 714106       Fax. : 01226 700722

Email : office@redgateengineering.co.uk

Drawing Produced By

L
im

it
ed

mailto:office@redgateengineering.co.uk

